C:# Calcolala pendenza Nome:

Trovala pendenza. Risposte
Es) 3x+y=+4 Es) -6x+5y =40 -3
y=-3x+4 By = 6x + 40 Es. L
6
y=7X+8 6
’ Es. /5
1) 1x-5y=25 2) -9x-dy=-4 L
2
3.
3) 8x+7y=-42 4) ox+y=+9
4,
5,
5) 5x-4y=8 6) 3x-y=-6 6
7.
8.
7) 1x-5y=30 8) -4x+6y=-18
)
10.
9 6x-3y=-9 10) ox+y=-8 11.
12.
13.
11) 8x+y=+38 12) 2x+7y =42
14,
13) ox+y=-4 14) 8x+y=-3
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Calcolala pendenza Nome: Soluzioni
Trovala pendenza. Risposte
Es) 3x+y=+4 Es) -6x+5y =40 -3
y=-3x+4 By = 6x + 40 Es. 1
y=%x+8 6
Es. 5
1
1) 1x-5y=25 2) -9x-dy=-4 L >
-5y:-1X+25 -4y:9)(_4 -9
y=7x-5 y=-/x+1 2 4
-8
3. 7
3) 8x+7y=-42 4) ox+y=+9 -9
7y =-8x - 42 y=-9x+9 4 L
y=-7x-6 °
5. 4
3
5) 5x-4y=8 6) 3x-y=-6 6 L
-4y =-5x + 8 -y =-3x-6 1
y:5/4x-2 y=3x+6 7. 5
4
8. 6
7) 1x-5y=30 8) -4x+6y=-18 6
-5y = -1x + 30 By = 4x - 18 S 3
y=7x-6 y=7x-3 -9
10. 1
8
9 6x-3y=-9 10) ox+y=-8 1 L
-3y =-6x-9 y=-9x-8 -2
y:6/3x+3 12. 7
-9
13. 1
11) 8x+y=+38 12) 2x+7y=42 &
14 1
y=8x+8 7y =-2X + 42 :
y=-7x+6
13) ox+y=-4 14) 8x+y=-3
y=-9%-4 y=8x-3
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